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1. The distance of the point (3, 5) from the line 2x + 3y —
14 = 0 measured parallel to the line x — 2y is:

7 7
(a) (b) 5 (c) V5 (d) V13
2. The lines xcosa+ysina= p; and xcosf§+
y sin 8 = p, will be perpendicular, if

(@) a+ B (b)|a- B|=n/2
(c)a=m/2 (daxtp=m/2

3. If each of the points (xi, 4), (-2,1) lies on the line joining
the points (2,-1), (5,-3), then the point P (x4,y1) lie on the

line:
(a) 6(x + y)-25=0 (b)2x+6y+1=0
(c) 2x+3y-6=0 (d)6(x + y)+25=0

4. The equation of the straight line passing through the
point (4,3) and making intercepts on the coordinate are
whose sum is -1 is:

(a)£+X= —land=+%=-1

(b)5—5= —1and_—2+I= -1
(>+Z=1land=+2=1

(d)5—5= —1and_—2+I= 1

5. If the straight lines ax + by + ¢ = 0 and x cos « + y sin
o = c enclose an angle /4 between them and meet the
straight line x sin a — y cos a = 0 in the same point, then
(a)a® + b* = ¢? (b) a® + b* =2

(c) a® + b? = 2¢* (d)a?+b*>=14

6. The angle between the lines2x —y+3 =0and x +
2y+3=20is:
(a)30° (b)a5° (c)60° (d)9o°

7. The inclination of the straight line passing through the
point (-3,6) and the mid-point of the line joining the points
(4,-5) and (-2,9) is:

(a)m/4 (b)m/2 (c)3m/4 (d)m
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8. A square of side a lies above the X-axis and has one
vertex at the origin. The side passing through the origin
makes an angle n/6 with the positive direction of X-axis.
The equation of its diagonal not passing through the origin
is:

(a)y(V3 — 1)x (1 — /3)=2a

(b) y(v3 + 1)+x (1 — V3)=2a

() y(V3 + 1)+x (1 +/3)=2a

(d) y(V3 + 1)+x (V3 — 1)=2a

9. A (1,3) and C (7,5) are two opposite vertices of a
square. The equation of side through 4 is:
(@x+2y—7=0 (b)x—2y+5=0
(c)2x+y—-5=0 (d2x—y+1=0

10. The equation of a straight line passing through the
point (—5,4) and which cuts off an intercept of \/2 units
between thelinesx+y+1=0andx+y—1=0is:
(@x—2y+13=0 (b)2x—y+14=0
(c)x—y+9=0 (d)x—y+10=0

11. Equation to the straight line cutting off an intercept 2
from negative direction on the axis of y and inclined at 30°
to the positive direction of axis of x is:

(a)y+x—+3=0 (b)y—x+2=0
(c)y—xv3—-2=0 (d)yvV3—x+2/3=0

12. What is the value of y so that the line through (3,y) and
(2,7) is parallel to the line through (—1,4) and (0, 6)?

13. A straight line is drawn through the point P (2,2) and is
inclined at an angle of 30° with the X-axis. Find the
coordinates of two points on it at a distance 4 from P on
either side of P.

14. If the straight line through the point P (3, 4) makes an
angle%with X-axis and meets the line 12x + 5y + 10 =0
at Q, find the length of PQ.

15. Find the distance of the point (2, 3) from the line 2x —
3y + 9 = 0 measured along thelinex—y+1 = 0.

16. A line is such that its segment between the straight line
5x-y—4=0and 3x+4y —4 =0 is bisected at the
point (1, 5). Obtain the equation.

Ph:9891090557 BATCH START‘ONLINE & OFFLINE Crash course starting from 2nd Oct, 2024




MTIEE | BITSAT | 1OGM | IMO | BOARDS
MATHEMATICS

Level-2, TEST-

@  ABHINAVACADEMY O

‘ Rouz!s WO!E }

17. The side AB and AC of a AABC are respectively 2x +
3y =29 and x + 2y = 16. If the mid-point of BC is (5, 6),
then find the equation of BC.

18. A straight line through A (—15,—10) meets the lines
x—y—1=0, x+ 2y =>5andx + 3y = 7 respectively at

12 40 52 .
A BandC. If B + 1B = ap Porve that the line passes

through the origin.
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